
Jannali Bed 
Assist Rail Tall
Installation guide

Installation guide
Step 1: Open the packaging carton, prepare the assist rail and 
accessory kit.

Step 2: Use remote control to raise bed to a comfortable position 
for installation. 

Step 3: Install connecting parts.

1

No. Description

1 Assist rail x 2pcs

2 Assist rail connecting part x 4pcs

3 Allen key 5mm x 1pcs

4 Allen key 6mm x 1pcs

5 Screw M10 x 4pcs

6 Metal washers big x 4pcs

7 Screw M8 x 8pcs

8 Metal washers small x 8pcs

2 3

4

5 6

7 8

Locate the mounting holes  
on mattress support platform. 

Place the assist rail connecting  
part (2) on top of the mounting holes.

Use two sets of M8 screw (7) and  
washer (8) to fix one connecting part. 

Sales, administration and general enquiries  
1300 783 783  |  customerservice@kcare.com.au  |  kcare.com.au

Published July 2024

KA3200ART



Sales, administration and general enquiries  
1300 783 783  |  customerservice@kcare.com.au  |  kcare.com.au

Published July 2024

Tighten the screws with 5mm Allen key (3). Mount the other assist rail connecting part (2) by repeating 
above steps.

Installation guide Continued

Step 4: Install assist rail.

Step 5: Install the other assist rail  
by repeating the above steps.

Place the assist rail (1) on top of the 
mounting holes on the connecting  
part (2).

Connect assist rail (1) with connecting 
part using two sets of M10 screw (5)  
and big washer (6).

Tighten the two screws with  
6mm Allen key (6).

After installation


